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A +2
B) +3
(C) +4
(D) -2

CH3MgBr 3R CO, # 1ufshan & qv=ma Ja-319eed it W ffida 3cumg 7 -
(A) CH3CHO

(B) CHsCOCHj

(C) HCOOH

(D) CH,COOH



General Instructions :

Read the following instructions carefully and follow them :

(i)
(i)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)

This question paper contains 33 questions. All questions are compulsory.

This question paper is divided into five sections — Section A, B, C, D and E.
Section A - questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

Section B - questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks.

Section E — questions number 31 to 33 are long answer type questions. Each
question carries 5§ marks.

There is no overall choice given in the question paper. However, an internal
choice has been provided in few questions in all the sections except Section A.

Kindly note that there is a separate question paper for Visually Impaired
candidates.
Use of calculators is not allowed.

SECTION A

Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark

each.

1.

16x1=16

The most stable oxidation state of Iron is :

A +2
(B) +3
(C) +4
D) -2

The product formed as a result of reaction of CH3MgBr and COy followed
by hydrolysis is :

(A) CH,CHO
(B) CH3COCH,4
(C) HCOOH

(D) CHZCOOH

56/1/2-11 3 VWMWY P.T.O.



(A)  U=IE U IR BIEhIND 30 §

(B) TSI Ieh &N, U= IehUl 3R BIEHIh A d

(C) TSISH I ARh A BIEhID 30 A

(D) Uwcrd IehU 3R AT3EINH Ith &eh °
4. Trafafea tfera gamsel ® ¥ H-E1 Syl ulshan daifees sferdr & i
27
(A) (CHgs-1
(B) (CHy,—Cl
(C) (CHg - Br
(D) (CHy);—F

5.  HHid, st § fga sAma 8 fSreest are g% S 0-54 8 | $Hehl UM T
q:
) 054
(B) 046
(C) 092
(D) 027
6. i3 AMMHAT A, + B, —— 2AB o1 fornfafy gro 2l 2
Ay —> A+ A (W9)
A+By, > AB+ B (@)
A +B - AB (@)
3Teh! hife B :
A 1
B) 2
(O
1
(D) 3



3. Nucleotides are composed of a :

(A)
(B)
(C)
(D)

pentose sugar and phosphoric acid
nitrogenous base, pentose sugar and phosphoric acid
nitrogenous base and phosphoric acid

pentose sugar and nitrogenous base

4. Which of the following alkyl halides will undergo Sy1 reaction most

readily ?

(A) (CHg)g-1

(B) (CHg)3-Cl

(C) (CHg)3—Br

(D) (CHg)3-F
5. Phenol dimerises in benzene having van’t Hoff factor 0-54. Its degree of

association i1s :

(A) 054

(B) 046

(C) 092

(D) 027

6. A reaction A, + B, —— 2AB occurs by the following mechanism :

Ay —> A + A (slow)
A+ By - AB + B (fast)
A + B — AB (fast)

Its order would be :

(A)
(B)
()

(D)

56/1/2-11
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7.  GIS ARH & 1Y HifeIq d-AIee &l TH HE T fIereiieda 8 s9d1 @ :
(A) St

(B) d=Igeh 3TFA
(C) d=ifcesrss
(D) Zvlﬁé:l

0 o)
| |

8. CH;-C-CH,-C-H % 3.3 4.0 (IUPAC) ™ & :

(A)  1-3THERILAA-3-3T1

~

(B) 1-

(C) 3-IATFdeged
(D) 3-SATFdegH

9. 573 KW Cu % &Y I Ueehlgidll oh i d ST 3

(A)  UeohTeH

(B) UcshH
(C) TUfcesss
(D) e

10. STRMA3™E e § 9 1/T & 91 log k &1 UM% @il Jrar B, ol Teh dieft
@1 9TH Bt g fSaet

(A) m%%aﬁzaﬁa:@gf}a%|

(B) < A 7 3R 3Fd:@s _f;a 21

(C) @i _If]’I? 2 3R 3. T logA% |
) o

D a 3T 3Aq:EE log A 2 |

) 233K © ogAE



7. Decarboxylation of sodium benzoate on heating with soda lime gives :
(A) benzene
(B) benzoic acid
(C) benzaldehyde
(D) toluene
O o)
8. The IUPAC name of CH; — (|3| - CH,, - l)l— H is:

(A) 1-oxobutanal-3-one
(B) 1-oxobutanal
(C) 3-oxobutanal

(D) 3-oxobutanone

9. Dehydration of tertiary alcohols with Cu at 573 K gives :

(A) Alkyne
(B) Alkene
(C) Aldehyde
(D) Ketone

10. In the Arrhenius equation, when log k is plotted against 1/T, a straight
line is obtained whose :

(A) slopeis %and intercept is E,.

(B)  slope is A and intercept is —2 .

C 1 i a
(C) slopeis BT

and intercept is log A.

a

(D)  slopeis and intercept is log A.
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11. 8 d9 R FHTA, STAT S o T 3T1fshan swieh <l B
(A) 2 SHIEHA
(B) 3-SHIGMIA
(C) 4SBT

(D) 2,4,6-CTESHTEHTA

12.  TIEH § UHA Frl o fafirse svH 0 Saafedd BT hedrd @

[N o

A Tedes g

(B)  TTfHeh HEHAT

(C)  qdlFeh GT=

(D) agsh G

97 &A1 13 @ 16 & o710, 31 &9 30 710 § — foad v &1 srfyeo (A) aar
gt &1 HROT (R) GRT 3ifaha a1 741 § | 379 941 & @gl 3¢ 719 130 7Y &gt
(A), (B), (C) & (D) & @ g7at v |

(A) IR (A) 3 SR (R) T T&@l & 3R Rl (R), IR (A) A
g ST Ll & |

(B)  AfYheM (A) 3R SR (R) THI T&l 8, T R (R), 3MHHAT (A) i
&l AT FgT Rl 7 |

(C) AR (A) HEI 8, T SR (R) T 7 |

(D) AR (A) TeId B, Td SR (R) T R |



11. Phenol on reaction with aqueous bromine at room temperature gives :
(A) 2-bromophenol
(B) 3-bromophenol
(C) 4-bromophenol

(D) 2,4,6-tribromophenol

12. The specific sequence in which amino acids are arranged in a protein is
called :

(A) Secondary structure
(B) Primary structure
(C) Tertiary structure

(D) Quaternary structure

For Questions number 13 to 16, two statements are given — one labelled
as Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

56/1/2-11 9 VWMWY P.T.O.



13.

14.

15.

16.

17.

STIFIT (A) :
R (R) :

S7YFHIT (A) :

PRI (R) :

STIFIT (A) :
PN (R) :

S7IFHIT (A) :
PN (R) :

s S garT | Vel Jeaead & B |
UfefH # Tggee T W UM STERWINIG o I,

3TIHTG oh HRUT T o [oTT A I9TeY BTl 3 |

CH; — COOH &I geiT § 09N — CHy, — COOH &1 pK, O
R g 2 |

~NO, Uqg Soogd U U9E g @ Sl
OoN — CHy — COOH 1 3Trefial 1feAero sigr 2ar @ |

HehuuT gTgelt h FvH Tt 3= et R |

UHT gAfelT 8 FAifeh ThHUT GTgAT o TeiTeh 1 8Id & |
ST § NaCl T S @ Faeqies § 3939 Aferd giar 2 |
FALTR IFI Th AUEET Tured 7 |

Qs @

(%) FAfaiad gors AffhaT & T&F AHieal ScaTal ol TEAN §H18T . 1+1=2

(i1)

AYAT

(@) frafaftaa & fore s i . 1+1=2

() = 31fiyerdes 1 famm ST staeenstt § e =nfeu |

o

(i) Ufeord Bss et KOH & O Uchigld od & Siefeh Ucehla

~ O
|

<l

KOH i 3ufeyfa o Ueshia it gd & |
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13. Assertion (A) : Aniline is a stronger base than ammonia.
Reason (R): The unshared electron pair on nitrogen atom in aniline
becomes less available for protonation due to resonance.
14. Assertion (A): The pK, of O9N — CHy — COOH is lower than that of
CH3 — COOH.
Reason (R): — NOgy group shows electron withdrawing effect which
increases the acidic character of OoN — CHy — COOH.
15. Assertion (A) : Transition metals have high enthalpy of atomization.
Reason (R): This is because transition metals have low melting points.
16.  Assertion (A) : When NaCl is added in water, elevation in boiling point is
observed.
Reason (R): Elevation in boiling point is a colligative property.
SECTION B
17. (a) Draw the structures of major monohalo products in each of the
following reactions : 1+1=2
(i)
OR
(b)  Give reasons for the following : 1+1=2
(1) Grignard reagent should be prepared under anhydrous
conditions.
(i1))  Alkyl halides give alcohol with aqueous KOH whereas in the
presence of alcoholic KOH, alkenes are formed.
56/1/2-11 11 VNN NN P.T.O.



18.

19.

20.

21.

22,

1 BT & 91 D-TG[ehg ol FTcIiaa SA1WehHhl o A1 ANWha fohal JM@T 8 2 2
(E) BrzGl?f
(@) HCN
TET (e FHRT fTRIT 91 2
(®) U339 HI HoN-NH, & g AR & & a1 Ufereda
TATEhIA S 3= FAHTh Tl foeres §# KOH o @1 Ty feman Sfmar
2 |
(@) 9% NaOH @l (CHg)3C — CHO o @ SISl o &1 3Hehd TRl SITal
2 |
I gAaelS i fava uftenferd hifse foed Fe?t a1 1 @igar 0-01 M 2 |
(298 K T E’ po2+/pe = — 0:45 V)
[ﬁmw%:logm:l] 2
AffshaT bt hife 3T TfUeerdT & 9 a1 3= fafgu | 2
Qug
Afih (A) (CgH;50,), LiAIH, & 9=l gkt a1 Aifies (B) 3R (C) 21 2 |
ifieh (B) PCC 3 1Y 3Afaiiehd gt Alfieh (D) <al & Sl a NaOH % &1
HfUhd ek IR T HH T AR (B) <a1 28 | Ak (B) IR
BEGISHA S T IR (C) o @ | Ak (D) 3R Aeeliehd BieRt AT (F)
<Al 8 ST foh THATER 3T (31U WR = 60) R AT | AFERE (A), (B), (C),
(D), (E) 311 (F) 1 vg== Hife | 6x L=3

2



18. What happens when D-glucose is treated with the following reagents ? 2
(a)  Bry water

(b) HCN

19. Write the chemical equations when : 2

(a)  Pentan-3-one is treated with HoN — NH, followed by heating with
KOH in high boiling solvent such as ethylene glycol.

(b)  Two molecules of (CHg)3C — CHO are treated with conc. NaOH.

20. Calculate the potential of Iron electrode in which the concentration of
Fe?* ion is 0-01 M.
(E’pe24/p, = — 0-45 V at 298 K)
[Given : log 10 = 1] 2

21. Write two differences between order of reaction and molecularity of

reaction. 2

SECTION C

22. Compound (A) (CgH1909) on reduction with LiAlH, gives two compounds
(B) and (C). The compound (B) on oxidation with PCC gives compound (D)
which upon treatment with dilute NaOH and subsequent heating gives
compound (E). Compound (E) on catalytic hydrogenation gives
compound (C). The compound (D) is oxidized further to give compound (F)
which is found to be a monobasic acid (Molecular weight = 60). Identify
the compounds (A), (B), (C), (D), (E) and (F). 6 x i=3

2
56/1/2-11 13 VWMWY P.T.O.



23. Tmfafga & s &S : (8 717) 3x1=3

(%) UWTES EY FAT B 2
(@) Tr8 &R &1 &Y DNA 1 fgpecll Sl e S8 @i g ?
() fr=Afafed o @ w9-a1 gifddsuss 8 ?

N T N o N
Goh!d, ThE, T, Hael

(@) o ° faog faerfm o 9o ¥ oo foerfim yas 1 wh-ts 3gmE
AT |

24. (%) TAfRgad sAffshan i fehamfatyr forfaa -

H' B
CH;CH,0OH i CH, = CH,

(@) Ffaiea g Afafshan & gea I ffew

a) B2H6

(i)  CHy- CH,-CH = CH,
b) 3H,0,/0OH™

N
7

(i1)

1+2=3
25. (%) e SuagasE Aifie o1 g7 foafav .
e SEEgfFasiiehe (1)
(@) FAfafgd el i I foOe@ 6l AAhdl & 9¢d gU A H Faed
[CI‘(NH3)5C1]C12, [CI’(NH3)3C]3], [CI‘(NH3)6]Cl3
() TrafaRea aal g yeikia wueedr st ggam hif
() [Co(NHg)5NOg**
(ii) [Colen)3]Cls 1+1+(é+§)=3



23. Answer the following : (any three) Ix1=3

(a)
(b)
(c)

(d)

24. (a)

(b)

25. (a)

(b)

(c)

56/1/2-11

What is peptide linkage ?

What type of bonds hold a DNA double helix together ?
Which one of the following is a polysaccharide ?
Sucrose, Glucose, Starch, Fructose

Give one example each for water-soluble vitamins and fat-soluble

vitamins.

Write the mechanism of the following reaction :

H+

Write the main product in each of the following reactions :
a) B2H6

(i)  CHy-CH,-CH =CH,
b) 3H,0,/OH"

N
7

(i1)

1+2=3
Write the formula for the following coordination compound :
Potassium tetrahydroxidozincate (II)

Arrange the following complexes in the increasing order of

conductivity of their solution :

[CI‘(NH3)5C1] CIZ, [CI’(NH3)3013] , [CI‘(NH3)6] Clg

Identify the type of isomerism exhibited by the following complexes :
@)  [Co(NHs)5NOgI%*

(i) [Co(en)s]Cls 1+1+(é+é)=3

15 VWAV VWV WAVVVAWVVIWWWAWVY P.T.O.



26.

27.

28.

(%) FHfaRad § ¥ HE-41 Tl adEe 8 ?
(1) CH3-CH=CH-Br
(i) CHy=CH-CH - CHjs

|
Br

(@) FARET 3R 2,4,6-ZEATSIFARIS T B | hid TR gl &
g 3rferss srfufsramsiier 2 ot &= 2
(M) C4HyCl % form TUTaTE T ~IATH FALHTH BT 8 2 3x1=3

arfifskam 2NO (g) + Bry (g) > 2NOBr (g) % fou fm=feifga ymfirs am stisrs
aH g

T H& AT | [NOJ/mol L | [Bryl/mol L7 (m ?fl )
1 0-05 0-05 10 x 1072
2 0-05 0-15 3-0 x 1073
3 0-15 0-05 9-0 x 103

(%) AfafshaT @ NO 3R Bry, @ 3fd ife F1 8 2
(@) an foes (k) afepfad Shifse |

() srfufsean o fagifa HIT S99 NO 3R Bry, s @igar Es: 0-4 M 3R
02M 7 | 1+1+1=3

9 fopel aretshdt A 1 0-05 M KCI foe@a @ w1 Srar 2, df 25°C 9 3HehT
gfeRig 100 39 g | 91§ & T &I 0-02 M AgNOg faeem @ wu i, i

o~

gfelig 90 3| o1 | AgNOg Toe= 1 aTctshal 3R HIek ATeiehdl Tiehictd
ST | 3

(fe=m = 2 : 0-05 M KCl1 faetaa &1 =mefehdl = 1-35 x 1072 ohm ‘em ™)




26. (a) Which of the following is an allylic halide ?

i  CH3-CH=CH-Br

() CHy=CH-CH-CH;

|
Br

(b) Out of chlorobenzene and 2,4,6-trinitrochlorobenzene, which is

more reactive towards nucleophilic substitution and why ?

(¢)  Which isomer of C4HgCl has the lowest boiling point ? 3x1=3

27. The following initial rate data were obtained for the reaction :

2NO (g) + Bry (g) »> 2NOBr (g)

Expt. No. | [NOI/mol L™! | [Brgl/mol L™! (i‘;‘lliﬁl_}{:_tf)
1 0-05 0-05 10 x 1073
2 0-05 0-15 30 x 1072
3 0-15 0-05 9-0 x 1073

(a) What is the order with respect to NO and Bry in the reaction ?

(b) Calculate the rate constant (k).

(¢) Determine the rate of reaction when concentration of NO and Bry

are 0-4 M and 0-2 M, respectively.

I1+1+1=3

28. When a certain conductivity cell was filled with 0-05 M KCI solution, it

has a resistance of 100 ohm at 25°C. When the same cell was filled with

0-02M AgNOj3 solution, the resistance was 90 ohm. Calculate the

conductivity and molar conductivity of AgNOg solution.

(Given : Conductivity of 0-05 M KCl solution = 1:35 x 1072 ohm™

56/1/2-11
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Qus ¥

HET1TIGd o7 Ha-3TMETRT T97 & | T Bl 9% 16T 37K 15T 7T F9491 & I GI19¢ |

29. HANHal ey fga (VBT) IudgadS Afehi o &4, Faehd agR 3R
Saifiie oTRfR w1 Feifad Tusdehwl @ B Wt fhted & fagia
IuHEgAIeH ARl B foeme edia o1g T /A % d-herehl il Smell
A R ol fheed &= o g9 (forrei sl foig HAT&e AHd g 3 g

TG UHE) W GG § | TG qAT GuA heed &A1 H d-ehl o {odTed

(splitting) ® fafirar getereifer fomma wrw 2 8 | forea & fogra o8 oman
for SuEEERS AR 1 T goige % d-d GHH (transition) % HROT Bl
7 | SuEEEANS ARt HT arged TshHl, favevTeRs qen Ny WA % &
T HETeul SIIIA € |

fFrefafea et & 33 ST
(%) Torteat & foume St # 8 2 1
(@) forteat & figia & MU W T [Ti(H,0)gl> & ST &1 %1 %rw
gt | 1
(7)  [Cr(NHy)gl®" Terashi 8 S [Ni(CN), %~ Sfereshia B | same
SHIfSTT, T | [T AT : Cr = 24, Ni = 28] 2
CPC]

(7)  [Fe(CN)gl>~ Ush 3fiafteh efeh Tpet 8 Selfeh [Fe(Hy0)gl>H STEl heteh

g% 8, AT i, F1 | [TCHTY] SHHTH : Fe = 26] 2



SECTION D

The following questions are case-based questions. Read the case carefully and

answer the questions that follow.

29. The Valence Bond Theory (VBT) explains the formation, magnetic
behaviour and geometrical shapes of coordination compounds whereas
‘The Crystal Field Theory’ for coordination compounds is based on the
effect of different crystal fields (provided by ligands taken as point
charges), on the degeneracy of d-orbital energies of the central metal
atom/ion. The splitting of the d-orbitals provides different electronic
arrangements in strong and weak crystal fields. The crystal field theory
attributes the colour of the coordination compounds to d-d transition of
the electron. Coordination compounds find extensive applications in

metallurgical processes, analytical and medicinal chemistry.

Answer the following questions :

(a) What is crystal field splitting energy ? 1
(b) Give reason for the violet colour of the complex [Ti(H20)6]3+ on the
basis of crystal field theory. 1

(c) [Cr(NH3)6]3+ is paramagnetic while [Ni(CN)4]2_ 1s diamagnetic.

Explain why. [Atomic No. : Cr = 24, Ni = 2§] 2
OR

(c) Explain why [Fe(CN)6]3_ is an inner orbital complex, whereas

[Fe(H20)6]3+ is an outer orbital complex. 2

[Atomic No. : Fe = 26]

56/1/2-11 19 WAV NN P.T.O.



30. il 3R 3 T Tt T & A< WA ®9 § | fogga S & @@ *
T gk 18 oft St STUar A Yo d &9 9 fea it A« gar 7 | aunfy, fered
Flt o YRR 3T % foTu 38 goeh! a9 FHeg g1 =1ET Ud YA H &
Y 3! dicedl H AU IREdA &l FH1 18T | JEId: Sl & YehR
Bt & — wnerfires Sef@t 3t d=meh SefEr |
Tiarfires SefEt §, Ifufhan shad T R Bl 8 A1 $® UF doh T o §1G
bt ffsha &1 STt 8 @ gA: T ° T8 1S S dehdl, Sefch HARIeh SeRAt
YA Y S wehdt F |
FSHIY GaEl 8 fagd Icured sigd 3tfaeh STt fofer 481 & den 98 Yguu 1 Tk
ST 9Id 8 | 39 THET % GHIYH o [T TH Aead! 99 tfienfoaa fehe o g
S Sl <t g ot o WY 7 faga St # giafda fen S g, i s
399 9 $ed & | U B Th 399 Ual i Ul ANE HRIA H T H A=

T A7 |

(%) wrfies defl, Tameh defE & fhe TR 9 gl 8 2

(@) TR 9t 1 9 favg 135 V gia1 g q 0yl r-31afy § for @ g |
R ST |

(M) e T Sl % qeraye (i) # affufeq sifirfrand fafeg |
ST
() 3= Aea Telt Ht e o Iell & < o fafaw |



30.

56/1/2-11 21 WAV NN P.T.O.

Batteries and fuel cells are very useful forms of galvanic cell. Any battery
or cell that we use as a source of electrical energy is basically a galvanic
cell. However, for a battery to be of practical use it should be reasonably
light, compact and its voltage should not vary appreciably during its use.
There are mainly two types of batteries — primary batteries and

secondary batteries.

In the primary batteries, the reaction occurs only once and after use over
a period of time the battery becomes dead and cannot be reused again,

whereas the secondary batteries are rechargeable.

Production of electricity by thermal plants is not a very efficient method
and is a major source of pollution. To solve this problem, galvanic cells
are designed in such a way that energy of combustion of fuels is directly
converted into electrical energy, and these are known as fuel cells. One

such fuel cell was used in the Apollo space programme.

Answer the following questions :
(a) How do primary batteries differ from secondary batteries ?

(b) The cell potential of Mercury cell is 1:35 V, and remains constant

during its life. Give reason.

(c) Write the reactions involved in the recharging of the lead storage

battery.

OR

(c) Write two advantages of fuel cells over other galvanic cells.
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SECTION E

31. (a) () Account for the following :
(1)  The melting and boiling points of Zn, Cd and Hg are low.

(2)  Of the da* species, cr’t s strongly reducing while

Mn®* is strongly oxidizing.
0 2+ .
(3) E valueof Cu” /Cuis +0:34 V.

(ii) Complete and balance the following chemical equations :

(1) KMnO, —Peat ,
(2) Cr2o§— +61 +14H — 3+2=5
OR

(b) @ Out of CuyCly and CuCly, which is more stable in aqueous

solution and why ?

(ii)) Write the general electronic configuration of f-block

elements.

(iii)  Predict which of the following will be coloured in aqueous
solution and why ?

3 3
Sc +, Fe +, /n

[Atomic number : Sc = 21, Fe = 26, Zn = 30]

2+

(iv). How can you obtain potassium dichromate from sodium

chromate ?

(v)  Why do transition metals and their compounds show

catalytic activities ? 5x1=5
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32. (a)

(b)

(1) At the same temperature, CO9 gas is more soluble in water
than Og gas. Which one of them will have higher value of
Ky and why ?

(ii)) How does the size of blood cells change when placed in an
aqueous solution containing more than 0:9% (mass/volume)

sodium chloride ?

(iii) 1 molal aqueous solution of an electrolyte Ag9Bg is 60%

ionized. Calculate the boiling point of the solution. 1+1+3=5

(Given : Ky, for HyO = 0-52 K kg mol ™)

OR

(1) The vapour pressures of A and B at 25°C are 75 mm Hg and
25 mm Hg, respectively. If A and B are mixed such that the
mole fraction of A in the mixture is 0-4, then calculate the

mole fraction of B in vapour phase.

(ii)  Define colligative property. Which colligative property is
preferred for the molar mass determination of

macromolecules ?

(iii) Why are equimolar solutions of sodium chloride and glucose

not isotonic ? 242+41=5

33. Answer any five questions of the following : 5x1=5

(a)

(b)

(c)
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N,N-diethyl-benzenesulphonamide is insoluble in alkali. Give reason.
Aniline does not undergo Friedel-Crafts reaction. Why ?

Write a simple chemical test to distinguish between methylamine

and aniline.
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(d) Write the chemical reaction involved in Gabriel phthalimide

synthesis.
(e) How will you convert aniline to p-bromoaniline ?

(f)  Complete the following reaction :

(g) Write the structures of A and B in the following reaction :
COOH

@ NH; |, Br,+NaOH _

A






